
Simultaneous Linear Equations (Edexcel GCSE Exam Questions) 
 
Q1. 
  
Solve the simultaneous equations 

4x + 2y = 7  
3x − 5y = −24 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

x = ...........................................................  

y = ...........................................................  

  
(Total for question = 4 marks) 

  
Q2. 
  
Solve the simultaneous equations 

5x + 2y = −2  
3x − 5y = 11.2 

 
 
 
 
 
 
 
 
 

x = ........................................................... 

 
y = ........................................................... 

(Total for question = 4 marks) 
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Q3. 
  
Solve the simultaneous equations 

 
3x + 4y = 5 

2x − 3y = 9 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

x = ........................................................... 

 
y = ........................................................... 

 
(Total for Question is 4 marks) 

 
 
Q4. 
 
Solve the simultaneous equations 

4x + 7y = 1 
 3x + 10y = 15 

  
  

  

 

 

  

  

  
x = . . . . . . . . . . . . . . . . . . . . . .  

 
y = . . . . . . . . . . . . . . . . . . . . . .  

(Total for Question is 4 marks) 
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Q5. 
  
Solve 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

x = ........................................................... 

y = ........................................................... 

  
(Total for question = 4 marks) 

 Q6. 
 

Solve the simultaneous equations 
3x + 2y = 4 
4x + 5y = 17  

  
  

  

  

 

  

  

x ........................................................... 

y ........................................................... 

(Total for Question is 4 marks) 
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Q7. 
  
Solve the simultaneous equations 

4x + y = 25  
x − 3y = 16 

 
 
 
 
 
 
 
 
 
 
 

x =........................................................... 
y =........................................................... 

 
 
 

(Total for Question is 3 marks) 
Q8. 
 
Solve the simultaneous equations  

                         3x – 2y = 7  
                          7x + 2y = 13  

  

  

  

  

  

  

  

  

  

  

  

  

      .............................................................................................................................................. 
(Total for Question is 3 marks) 
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Q9. 
 
Solve the simultaneous equations 
3x + 10y = 7 
x – 4y = 6 
  

  

  

 

  

  

  

  

  
  

x = . . . . . . . . . . . . . . . . . . . . . . .  
y = . . . . . . . . . . . . . . . . . . . . . . .  

(Total for Question is 3 marks) 
 
 
Q10. 
  
Solve the simultaneous equations 

 
4x − 5y = 33 

3x + y = 1    

 
 
 
 
 
 
 
 
 
 
 
 
 

x = ........................................................... 

 
y = ........................................................... 

 
(Total for Question is 3 marks) 

Sub for in

x2 Gx t 20g 14 614 t 20g 14

20 5 5x 20g 30 24 t 20g 14
20g 14 24

I lol 44
20g 10

a 44
yI I 20

K ye t

4 tz

20 5 15xt5y 5
1 192C I 38

X 38
19

Sub for x in x 2
3 2 ty I
6 y I 2

y I 6

y 5 5


